Electronics and Communication Engineering
EC 6004 — SATELLITE COMMUNICATION

(Regulations 2013)
Maximum : 100 marks

Answer ALL questions.
PART A — (10 x 2 = 20 marks)

State Kepler's First and third law.

‘What is the limit of visibility?

Examine why noise temperature is a useful concept in communication
‘Formulate uplink and downlink equation of a satellite access.

. Write the features of MATV.

A satellite downlink at 12 GHz operates with a transmit power of 6 W and an
antenna gain of 48.2 dB. Calculate the EIRP in dbw.

yut the pre-assigned TDMA satellite access.
s the spread spectrum system differ from conventional commumecation
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P,'mnt out the caleulation of link power budget equation. 4

List the various types of system noise. Explain it in detail. (12)
Or ' '

llite TWTA output for

Derive the expression of cul.put back-off, sate

the downlink communication. . (8)
Calculate the carrier-to-noise-ratio for the combined uplink and
(8)

downlink communication.

Express FDMA in detail and also enumerate the mterferenr:.e in
(8)

"FDMA.

e spread spectrum communication 1in

(8)

Explain direct sequenc

Or

d TWT amplifier
um

~ the band limited and power limite
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